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FEDIV—2t 3 —O#FEERICEAT 51HER

Ny L-—REZENOEAZLOE=E (BAfL : t)
X5 | #h 45 557 67 18 85 95 105 1157 125 18 25 37 & &t

1845 | 100t/B| 1,553.40| 2,966.44| 1,181.43| 2,921.04| 2,745.53| 2,645.56|  574.65| 2,794.53| 2,881.65| 1,873.77| 2,438.64| 2,672.57| 27,249, 21

APk — AR | 2297 | 100t/B| 1,830.53| 2,930.68| 1,178.92| 2,931.22| 2,741.37| 2,644.78| 1,337.53| 1,640.05| 2,873.66| 2,864.88| 1,514.28| 2,672.45| 27,169.35

& st| 200t/B| 3,302.93| 5897.12| 2,360.35 5 852.26| 5486.90 5,290.34| 1,912.18| 4,434.58| 5 755.31| 4,738.65| 3,952.92| 5, 345.02| 54, 418.56

2 REBDBRVELCABICHEATIRRAROEE. ERIrSHEHINIBHFRAPO—BILRRRE (B4 : °C + ppm)
E\ HE BEE 47 58 68 18 8A 98 108 118 128 18 28 38 ﬁ?ﬁé’é‘g
RRZCOMENRAOR | aipr 935 946 048 934 033 034 033 924 936 94 946 041 | 850BIE
éfgg&':ﬁ*%wﬁ xeas 170 170 170 170 170 170 170 170 170 170 170 170 | 2001
EAnopmonddY | ms 5 4 4 3 3 3 4 4 4 3 3 4| 100LF
RRZCOMEAADE | aipr 947 957 961 048 934 928 939 946 950 946 942 963 | 85011t
éfgg&':ﬁ*?éw’w Teas 170 170 170 170 170 170 170 170 170 170 170 170 | 2001 F
EAnopmonsdT | ma 3 4 3 2 2 3 4 3 3 3 3 2| 100uF
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s o [0 A 8B~ 108 BB ks g0 CABKIONTE, ERREERLINC LR
_ L 21:!%5 10 H 17 E ~ 11 ﬁ 9 E 45—?(—I~7D'7I:J:Uﬁ@lﬂ#liﬁﬁiﬁﬁbflﬁiﬂ'o
?ﬁfﬂizifﬁl: f=WMEL T =
[FLNCA _ 1BfF|4 B10B ~ 4 B13E|6 ANNEB~6 A2EAB[108 88 ~10H8268
B
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[1E54]
No. i ey = = i EER _ o = BEMHE | ESBENIE
1 [TLCA g/mN 0. 001ki& 0. 001K 0. 001K 0. 001k 0. 001k 0. 001k 0.01LLF 0.04LLF
2 RERILEY ppm 9 11.0 3.8 3.7 4.3 3.4 30T 32004 T
3 EXREItY ppm 38 36 35 36 37 37 50LLF 250LLF
4 BibkE ppm 13 14 4.1 11 1.2 1.2 LT 430LLF
5 k&R ug/mN 0.08 — — 0. 11K — — 50LLF 50LLTF
6| S4AFL U | ng-TEQ/miN — 0.000023 — — 0. 000044 — 0. 0554F 0. 1LLF
X1 KiE=11. 7 (ppmit E T$33200& 42 Y £9)
[2 5]
No. EH s — — — HERR _ - — — BIMHIE | ESERIE
1 [TLCA g/mN 0. 001k 0. 001 &% 0. 001 R 0. 001Ri 0. 001R;i 0. 001k 0.01LLTF 0.04LLTF
2 HERIEY ppm " 9 8.3 3.3 5.8 1.2 30LLF 3200 X
3 EXREIEY ppm 38 39 38 33 37 38 50LLF 250LLF
4 BibkE ppm 17 10 17 13 9.5 1" LT 430LLF
5 KER wg/mN 0. 13k — — 0. 11K — — 50LLF 50LLF
6| #A4AFL % | ng-TEQ/mN — 0. 000032 — — 0.000010 — 0.05LLTF 0.1LLTF
X1 KIE=11. 7 (ppmiE T#93200& 4 Y F£9)




